Vector Activity - Extension

Dominoes are placed end to end to form a chain. Tape or glue onto a separate piece of paper.

Start :

A= (4, _3)
B=(, -1
C=(-1, —2)

magnitude of 4B =

magnitude of AC =

magnitude of BC =

A vector perpendicular to _é =

4 vector perpendicular to BC=

4 wvector perpendieular to AC=




the cosie of the acute angle berwasn
AR =nd BC -

the cosine of the acutz angle betwasn
AC and BC =

The position wctor of the point which
diidazthe ine BC intha ratin ] 12 -

The position wctor of the point which
dividas the line ABnthe mmtin 2:1 =

the cosine of the acute angls betwasn
AR znd AC =

The position vector of the
midpoint ofthe line 48 =

The position wctor of the point which
dividasz the line BC intha ratin2 13 =

The positbnvacior of the point which
diadesthe e ACInthe matin 1:2 =

The posiion vector ofthe
midpoint ofthe line AC =

The positbnvector of the point which
dividas the tine Cd inthematin 1:3 =

The position vector of the
midpoint of the line BC =

Fmish




SOLUTION:

magruude of AC =

Avecioe premeedicirin A c=




